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QUESTION 1(30 marks)

Write down the letter corresponding to the best option for each question in the answer
booklet/sheet provided.

-2 3
1.1 If 4 :( 4], which of the following statements is false? (3)
, (4 9 4 —6
A. |[A==2 B. £°= C. AI=4 D. -24=
4 16 4 -8
1.2 The HCF of 128, 216, and 240 is 3)
A. 12 B. 8 C. 16 D. 6

1.3 Evaluate the following:

2 -2
1.31 4 8‘-944 '—:*4—4
4 2" (3)
A.5184 B. 12 C.3 D. 8.48
132 [72+2(-2-4)-4]+(-25)+-(3-98) 3)
A.-225 B. -15 C. -216 D. -7
3 x0 0593 . 1 .. "
| Siven that x = > andy = ; correct to 1 significant figure (3)
1.3.3
A. 0.6 B. 1 C. 0.2 D. 0.4
1.4 A copy machine can duplicate 2400 copies in one hour. How many copies can it
make per minute (in 1 minute)?
A. 40 copies B. 60 copies C. 240 copies D. 10 copies (3)
Qe b y* .
————— simplifies to 3
(Ba’b7c7) g G)
A Lc;z"b{’ B. ia‘bﬁc"z C La:z‘b‘sc"2 D. ia“b‘f’
36 9 36 9
1.6 Expand and simplify 4ab” +(2ab —b)2 3)
A. 4a’h* + b* B. 4ab* + 4a*b* —b* C. 4a’h* D. 4a’b+8a’bh> —b*
1.7 Which of the following statements is false? (3)
o
n__ s

A. (-3)* =81 B. 32=-9 C. (6°° =60 D. ;52
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1.8 Julia went shopping and spent half of her money on food, a third on her rent, and a
tenth to pay her telephone bill. If she remained with N$200, how much did she had in

~

the beginning? (3)
A.N$1120 B.N$3000 C.N$I200 D.N$3200
QUESTION 2(12 marks)

The answers to this question should be written in the answer booklet/sheet provided.

Ensure that all your calculations are shown neatly, systematically and legibly

2:1 In a certain city, the local taxes collected in a month amounted to N§1.25 million. If

the population of the city is2x10*, how much on average did each citizen of the city
pay in taxes? (3)

2.2 Solve the following linear equations:

22,1 (x—2)%=(x+2)*-112 (3)
222 43—" +1=3x 3)
223 3x—2=-5x+8 (3)

QUESTION 3 (58 marks)

The answers to this question should be written in the answer booklet/sheet provided.

Ensure that all your calculations are shown neatly, systematically and legibly.

3.1 Evaluate the following without using a calculator
2
3.1.1 =3%2+42[20+(7—-11)] x5+ 27z (3)
312 Z[2X3+5%x4)—(3%x2-2x4)] (4)
~ 1. 271 1 2. 2 1
818 245 -2+ (g * ) (6)

3.2 A farmer buys bags of animal feed at Agra to feed his 24 goats. He expects this amount
of feed to last 8 days. When he gets to the farm he discovers that the number of goats
has reduced to 16 due to deaths from drought. How long will the feed last? 4

W
W

Consider the following matrices:

A= Hads=(F 3)

3 4 1 —2
Find:
3.3.1 Matrix 3A-B (8)
3.3.2 Determinant of matrix 2A (3)
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3.4

Determine the values of the variables in the following:

[2 b} [3 1 ] [8 sc] '
+k =
Ck 3 0 —2 —‘6 —1 (6)

3.5 Given the following sets:

S={1,234,56789, 10, 11, 12, 13, 14, 15, 16}

A= {x :x is a multiple of 3}

B= {x :x is a factor of24}

C = {x:xisan odd number}
3.5.1 Find

3.5.1.1 n(B) (2)

2.5.1.2 (AUBUC)® 2)
3.6  Consider the Venn diagram below illustrating the marital status of female staff in an

S =1200
Eemale Married
x-10

organisation:
3.6.1 What is the value of x? 4)
3.6.2 How many female staff are there in this organisation? (2)
3.6.3 How many of the female staff are married? )
3.6.4 How many of the female staff are single? 2)
3.7 Mr Simon has received his gratuity of N$50 €00 and has decided to invest it with the

bank for five years in an investment account that pays interest @ 12.75% p.a. He has

been given two options:

Option A: Investment at simple interest. (8)
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Option B: Investment with interest compounded quarterly.
By showing full calculations, determine which interest option is better for
Mr Simon.

END OF EXAMINATION
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